
rhu;Gfs; 
 
tUkhdr; rhu;GfSk; Nfs;tpr; rhu;GfSk; 
tUkhdr; rhu;Gfs; Nfs;tpr; rhu;GfSld; rk;ge;jg;gl;lit MFk;. mjhtJ fzpak; (x) ,dhy; 
Nfs;tpr; rhu;gpidr; ngUf;Ftjd; %yk; tUkhdr; rhu;gpid vq;fshy; ngw;Wf;nfhs;s KbAk;.     
 

  mjhtJ> tUkhdr; rhu;G = Nfs;tpr; rhu;G x x 
 

c+k;  1 : Nfs;tpr; rhu;G 2x + 3 Mf ,Uf;Fnkdpd;> tUkhdr; rhu;gpidf; fzpf;Ff.  
   

 tUkhdr; rhu;G  = Nfs;tpr; rhu;G x x 
  =  (2x + 3)x x 
  =  2x2 + 3x 
 

c+k;  2 : Nfs;tpr; rhu;G 4x2 + 5x – 3 Mf ,Uf;Fnkdpd;> tUkhdr; rhu;gpidf; fzpf;Ff.  
   

 tUkhdr; rhu;G  = Nfs;tpr; rhu;G x x 
  =  (4x2 + 5x – 3)x x 
  =  4x3 + 5x2 – 3x  
 
nkhj;jf; fpuar; rhu;Gfs;> khWk; fpuar; rhu;Gfs; kw;Wk; epiyahd fpuak; 
nkhj;jf; fpuar; rhu;ghdJ khWk; fpuar; rhu;igAk; epiyahd fpuaj;ijAk; cs;slf;fpAs;sJ.  
 

  mjhtJ> nkhj;jf; fpuar; rhu;G = khWk; fpuar; rhu;G + epiyahd fpuak; 
 

Fwpg;G : ,q;F> khWk; fpuar; rhu;G ,Ugbr; rkd;ghl;L tbtpYk; (c+k; : 1000x2 + 8000x) epiyahd 

fpuak; gzj;njhif Nghd;w tbtpYk; (c+k; : &. 40 000/-) jug;gLk;.    
 
c+k;  1 : khWk; fpuar; rhu;G 2x2 + 3x MfTk; epiyahd fpuak; &. 300,000/- MfTk; ,Ug;gpd;> 

nkhj;jf; fpuar; rhu;gpid milahsq;fhz;f.  
   

 nkhj;jf; fpuar; rhu;G  = khWk; fpuar; rhu;G + epiyahd fpuak; 
  =  2x2 + 3x + 300,000  
   

c+k;  2 : khWk; fpuar; rhu;G 4x2 + 2x MfTk; epiyahd fpuak; &. 1000 MfTk; ,Ug;gpd;> nkhj;jf; 

fpuar; rhu;gpid milahsq;fhz;f.  
   

 nkhj;jf; fpuar; rhu;G  = khWk; fpuar; rhu;G + epiyahd fpuak; 
  =  4x2 + 2x + 1000  
 
,yhgr; rhu;Gfs;  
tUkhdj;jpypUe;J nkhj;jf; fpuaj;ijf; fopg;gjd; %yk; ,yhgk; fzpf;fg;gLfpwJ. mNjNghd;W 
tUkhdr; rhu;gpypUe;J nkhj;jf; fpuar; rhu;igf; fopg;gjd; %yk; ,yhgr; rhu;G ngwg;gLfpwJ.   
 

  mjhtJ>  ,yhgr; rhu;G = tUkhdr; rhu;G – nkhj;jf; fpuar; rhu;G  
 

c+k;  1 : nkhj;jf; fpuar; rhu;G 40 + 4x MfTk; tUkhdr; rhu;G 24x – 2x2 MfTk; ,Ug;gpd; ,yhgr; 

rhu;gpidf; fzpf;Ff.  
   

 ,yhgr; rhu;G  = tUkhdr; rhu;G – nkhj;jf; fpuar; rhu;G 
  =  24x – 2x2 –  (40 + 4x)   
  =  24x – 2x2 – 40 – 4x 
  =  20x – 2x2 – 40 

 

Fwpg;G : vz;fzpj tOitj; jtpu;g;gjw;F> nkhj;jf; fpuar; rhu;gpidf; fopf;Fk; Ntisapy; NkNy 
fhl;lg;gl;Ls;sthW milg;Gf;Fwp ,l;Lf;nfhs;tJ nrsfupakhdjhf ,Uf;Fk;.       

 
 
 



c+k;  2 :  fPo;tUk; jfty;fs; cq;fSf;Fj; jug;gl;Ls;sd.  
 Nfs;tpr; rhu;G = 120,000 + 100x 
 khWk; fpuar; rhu;G = 7000x + 1000x2 
 epiyahd fpuak; = &. 900,000/- 
NkYs;s jfty;fisg; gad;gLj;jp> tUkhdr; rhu;G> nkhj;jf; fpuar; rhu;G kw;Wk; 
,yhgr; rhu;G Mfpatw;iwf; fzpf;Ff.  
 

   

 tUkhdr; rhu;G   = Nfs;tpr; rhu;G x x 
  =  (120,000 + 100x) x x 
  =  120,000x + 100x2  
 

 nkhj;jf; fpuar; rhu;G   = khWk; fpuar; rhu;G + epiyahd fpuak; 
  =  7000x + 1000x2 + 900,000 
 

 ,yhgr; rhu;G  = tUkhdr; rhu;G – nkhj;jf; fpuar; rhu;G 
  =  120,000x + 100x2  – (7000x + 1000x2 + 900,000) 
  =  120,000x + 100x2  – 7000x – 1000x2 – 900,000 
  = 113000x – 900x2 – 900,000  
 
vy;iy tUkhdr; rhu;GfSk; vy;iy fpuar; rhu;GfSk;  
 vy;iy tUkhdr; rhu;gpidf; vt;thW fzpg;gJ?  
 

 tUkhdr; rhu;gpid tifapLtjd; %yk; vy;iy tUkhdr; rhu;gpidf; fzpf;f KbAk;.    
 

c+k;  1 :  tUkhdr; rhu;G 5x2 + 4x + 2000 vdpd;> vy;iy tUkhdr; rhu;gpidf; fzpf;Ff.  
   

 tUkhdr; rhu;G (R)    = 5x2 + 4x + 2000 

 vy;iy tUkhdr; rhu;G     
ௗ(ோ)
ௗ௫

  =  (5x2) x2-1+ 4x1-1 + 0 

     = 10x + 4 + 0 
     = 10x + 4  
   
c+k;  2: Nfs;tpr; rhu;G 4x2 + 5x – 3 vdpd;> vy;iy tUkhdr; rhu;gpidf; fzpf;Ff.  
 vy;iy tUkhdr; rhu;gpidj; Jzptjw;F vq;fSf;F tUkhdr; rhu;G Njitg;gLfpwJ. 

Mdhy; ,q;F Nfs;tpr; rhu;G khj;jpuk; jug;gl;Ls;sJ. vdNt> Kjypy; ehq;fs; Nfs;tpr; 
rhu;gpypUe;J tUkhdr; rhu;gpidf; fzpg;gpLjy; Ntz;Lk;.    

   

 tUkhdr; rhu;G (R)   = Nfs;tpr; rhu;G x x 
  =  (4x2 + 5x – 3)x x 
  =  4x3 + 5x2 – 3x  
 

 vy;iy tUkhdr; rhu;G    
ௗ(ோ)
ௗ௫

  =  (4x3)x3-1 + (5x2)x2-1 – 3x1-1 =12x2 + 10x – 3 

         
 ,NjNghd;W nkhj;jf; fpuar; rhu;gpid tifapLtjd; %yk; vy;iyf; fpuar; rhu;gpidf; vq;fshy; 

fzpg;gpl KbAk;.   
 
c+k;  1 : nkhj;jf; fpuar; rhu;G x2 – 20x + 1000 vdpd;> vy;iyf; fpuar; rhu;gpidf; fzpf;Ff.  
   

 nkhj;jf; fpuar; rhu;G (TC)  = x2 – 20x + 1000 

 ∴ vy;iyf; fpuar; rhu;G     
ௗ(்஼)
ௗ௫

  =  2x – 20 + 0 

     = 2x – 20  
 
 



   
c+k;  2 : khWk; fpuar; rhu;G 5x2 + 4x MfTk; epiyahd fpuak; &. 2000 MfTk; ,Ug;gpd;> vy;iyf; 

fpuar; rhu;gpidf; fzpf;Ff.  
 vy;iyf; fpuar; rhu;gpidj; Jzptjw;F vq;fSf;F nkhj;jf; fpuar; rhu;G Njitg;gL 

fpwJ. Mdhy; ,q;F khWk; fpuar; rhu;Gk; epiyahd fpuaKk; toq;fg;gl;Ls;sd. vdNt> 
Kjypy; ehq;fs; khWk; fpuar; rhu;igAk; epiyahd fpuaj;ijAk; gad;gLj;jp nkhj;jf; 
fpuar; rhu;ig fzpg;gpLjy; Ntz;Lk;.    

   

 nkhj;jf; fpuar; rhu;G (TC) = khWk; fpuar; rhu;G + epiyahd fpuak; 
       =  5x2 + 4x + 2000 

 ∴		vy;iyf; fpuar; rhu;G  
ௗ(்஼)
ௗ௫

  = 10x + 4 + 0  = 10x + 4.   

 
rkg;ghl;L (,yhg – el;lkw;w) fzpak; 

,yhg – el;lkw;w Gs;spapy; myFfspd; vz;zpf;ifapid (fzpaj;ij) fzpg;gjw;F ,uz;L 

Kiwfs; fhzg;gLfpd;wd. 
 

Kiw 1 
 

,yhgr; rhu;ig G+r;rpaj;jpw;Fr; rkg;gLj;Jtjd; %yk; my;yJ nkhj;jf; fpuar; rhu;ig tUkhdr; 

rhu;Gld; rkg;gLj;Jtjd; %yk; ngwg;gLk; tpilfs; ,yhg – el;lkw;w Gs;spapy; fhzg;gLk; 
myFfspd; vz;zpf;iff;Fr; rkdhf ,Uf;Fk;.  
 
                              ,yhgr; rhu;G = 0 
 

     my;yJ 
 

  nkhj;jf; fpuar; rhu;G = tUkhdr; rhu;G 
 
c+k; :  nkhj;jf; fpuar; rhu;G 300x + 4800 MfTk; tUkhdr; rhu;G –2x2 + 500x MfTk; ,Ug;gpd; 

,yhg – el;lkw;w Gs;spapy; myFfspd; vz;zpf;ifiaf; fzpf;Ff. 
 

  nkhj;jf; fpuar; rhu;G = tUkhdr; rhu;G       ,yhgr; rhu;G = 0 
  300x + 4800 = –2x2 + 500x   tUkhdr; rhu;G – nkhj;jf; fpuar; rhu;G = 0 
  2x2 - 500x + 300x + 4800 = 0   –2x2 + 500x – (300x + 4800) = 0 
  x2 - 100x + 2400 = 0    –2x2 + 500x – 300x – 4800 = 0   

       x2 - 100x + 2400 = 0 
      x = 60    or     x = 40       x = 60    or     x = 40 

∴   ,yhg – el;lkw;w Gs;spapy; myFfspd; vz;zpf;if 60, 40 MFk;. 
 

Kiw 2 
 

nkhj;jf; fpuar; rhu;igAk; tUkhdr; rhu;igAk; xNu tiugpy; tiutjd; %yk; ,yhg – el;lkw;w 
Gs;spapYs;s myFfspd; vz;zpf;ifiaf; fzpj;jy; 
 
c+k; :  NkYs;s cjhuzj;ijf; fUj;jpw;nfhs;f. (cjtpf; Fwpg;G: tiuGf;fhd “x” ,d; ngWkhdq; 

fshf 20, 40, 60 80, 100 Mfpatw;iwj; njupTnra;f.)  
 

nkhj;jf; fpuar; rhu;G   300x + 4800 
     x = 20         300 x 20 + 4800 = 10,800 
    x = 40        300 x 40 + 4800 = 16,800 
    x = 60        300 x 60 + 4800 = 22,800 
    x = 80        300 x 80 + 4800   = 28,800 
    x = 100      300 x 100 + 4800 = 34,800 

tUkhdr; rhu;G   –2x2 + 500x 
    x = 20        –2 x 202 + 500 x 20    = 9,200 
    x = 40        -2 x 402 +500 x 40   = 16,800 
    x = 60        -2 x 602 + 500 x 60  = 22,800 
    x = 80        -2 x 802 + 500 x 80     = 27,200 
    x = 100   -2 x 1002 + 500 x 100  = 30,000

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
,yhgk; cr;rkhFk; Gs;sp 
,yhgk; cr;rkhFk; Gs;spapy; myFfspd; vz;zpf;ifia vt;thW fzpg;gpLtJ? 

,yhgk; cr;rkhFk; Gs;spiaAk; mg;Gs;spapy; myFfspd; vz;zpf;ifiaAk; fz;L 
gpbg;gjw;F ,uz;L Kiwfs; cs;sd. 
 
Kiw 1 (tifapLtjd; %yk;) 
,yhgk; cr;rkhFk; Gs;spapy;> ,yhgr; rhu;gpd; KjyhtJ tifaPL G+r;rpaj;jpw;Fr; rkdhfTk; 
,uz;lhtJ tifaPL kiwg; ngWkhdkhfTk; ,Uf;Fk;. 
 

c+k; :  nkhj;jf; fpuar; rhu;G 300x + 4800 MfTk; tUkhdr; rhu;G –2x2 + 500x MfTk; ,Ug;gpd; 

,yhgr; rhu;gpidAk; ,yhgk; cr;rkhFk; NghJs;s myFfspd; vz;zpf;ifapidAk; 
fzpf;Ff. 

  ,yhgr; rhu;G    = tUkhdr; rhu;G – nkhj;jf; fpuar; rhu;G  
    = –2x2 + 500x – (300x + 4800)  
           P = –2x2 + 200x – 4800.  
 

 ,yhgk; cr;rkhFk; Gs;spapy; myFfspd; vz;zpf;ifiaf; fzpj;jy; : 
 ,yhgr; rhu;gpd; KjyhtJ tifaPl;il G+r;rpaj;jpw;Fr; rkg;gLj;jy; Ntz;Lk;. 

 vdNt>      
ௗ(௉)
ௗ௫

    =  –4x + 200 = 0         4x = 200 

                               x = 50  
 ,yhgr; rhu;gpd; ,uz;lhtJ tifaPL kiwg; ngWkhdkhf ,Uj;jy; Ntz;Lk;.     

 MfNt>      
ௗమ(௉)
ௗ௫మ

    =  –4  <  0     
  ,U epge;jidfSk; jpUg;jpnra;ag;gl;Ls;sd. 
  ∴  x = 50.  
 

Kiw 2 (,yhg – el;lkw;w Gs;spfisg; gad;gLj;jp) 
c+k; 1 : nkhj;jf; fpuar; rhu;G 300x + 4800 MfTk; tUkhdr; rhu;G –2x2 + 500x MfTk; ,Ug;gpd;> 

,yhgr; rhu;igAk; ,yhgk; cr;rkhFk; Gs;spapy; myFfspd; vz;zpf;ifiaAk; fzpf;Ff. 
 

 ,yhg – el;lkw;w Gs;spapy;>  
  nkhj;jf; fpuar; rhu;G = tUkhdr; rhu;G 
  300x + 4800 = –2x2 + 500x 
  2x2 - 500x + 300x + 4800 = 0 
  x2 - 100x + 2400 = 0        x = 60    or     x = 40 

∴   ,yhg – el;lkw;w Gs;spapy; myFfspd; vz;zpf;if 60, 40 MFk;. 

vdNt> ,yhgk; cr;rkhFk;NghJ myFfspd; vz;zpf;if = 
଺଴ାସ଴
ଶ

    = 50        ∴  x = 50.  
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c+k; 2 : fk;gdp xd;wpd; thuhe;j ,yhgr; rhu;G P = 1,400x - x2 - 240,000 ,dhy; jug;gLfpwJ. 

,q;F x vd;gJ thuhe;jk; cw;gj;jp nra;ag;gLk; myFfspd; vz;zpf;if MFk;. thuhe;j 
,yhgj;ij cr;rg;gLj;Jtjw;F tpw;gid nra;ag;glNtz;ba myFfspd; vz;zpf;if ahJ? 

 
        P =  –x2 + 1400x – 240,000 = 0       

            
ௗ(௉)
ௗ௫

    =  –2x + 1400 = 0        2x = 1400       x = 700  

           
ௗమ(௉)
ௗ௫మ

    =  – 2  <  0      ∴  x = 700.  

 
gapw;rpfs; 

 
01. cw;gj;jpf; fk;gdp xd;wpd; myF xd;Wf;fhd khWk; fpuak; &. 6/- Mf ,Ug;gJld; mjd; 

nkhj;j epiyahd fpuak; &. 560/- MfTk; fhzg;gLfpwJ. mf;fk;gdpapd; nkhj;j tUkhdr; 
rhu;G fPNo jug;gl;Ls;sJ: 

 

    TR = – 2x2 + 30x + 520          ,q;F x vd;gJ cw;gj;jp nra;ag;gl;l myFfspd; vz;zpf;if. 
 

(i)  ,yhgr; rhu;igf; fzpf;Ff. 
 (ii)  tifaPl;ilg; gad;gLj;jp> ,yhgk; cr;rkhFk; Gs;spapy; myFfspd; vz;zpf;ifiaf; 

fzpf;Ff. 
 
 tpilfs;: 
 (i) ,yhgr; rhu;G  =  tUkhdr; rhu;G – nkhj;jf; fpuar; rhu;G 
           =  tUkhdr; rhu;G – (khWk; fpuar; rhu;G + epiyahd fpuak;) 
           =  – 2x2 + 30x + 520 – (6x + 560) 
           =  – 2x2 + 30x + 520 –6x – 560 
       P  =  – 2x2 + 24x – 40  
 
 (ii) ,yhgr; rhu;G (P) = – 2x2 + 24x – 40   

         
ௗ(௉)
ௗ௫

    =   – 4x + 24= 0        4x = 24       x = 6  

           
ௗమ(௉)
ௗ௫మ

    =  – 4  <  0      ∴  x = 6  

 
02. Xu; fk;gdpapd; ,ae;jpuq;fspy; xd;W thuhe;jk; mjpfgl;rkhf 10,000 myFfis cw;gj;jp 

nra;Ak; jpwd; nfhz;lJ. “x” myFfis cw;gj;jp nra;tjw;fhd thuhe;jf; fpuak; fPNo 
jug;gl;Ls;sJ: 

TC = 75,000 +100x − 0.03x2 + 0.000004x3 
myFfSf;fhd Nfs;tpr; rhu;G  D = 200 − 0.005x 

  

 vy;iyf; fpuar; rhu;G> vy;iy tUkhdr; rhu;G vy;iy ,yhgr; rhu;G Mfpatw;iwf; 
fzpf;Ff. 

 
 tpilfs;: 
 (i) nkhj;jf; fpuar; rhu;G (TC) = 75,000 +100x − 0.03x2 + 0.000004x3     

  vy;iyf; fpuar; rhu;G  =  
ௗ(்஼)
ௗ௫

  = 0 + 100 – 0.06x + 0.000012x2  

                 = 100 – 0.06x + 0.000012x2   
 
 (ii) tUkhdr; rhu;G (R)  = Nfs;tpr; rhu;G x x     
      =  (200 – 0.005x) x x  =  200x – 0.005x2 

  vy;iy tUkhdr; rhu;G    =  
ௗ(ோ)
ௗ௫

  = 200 – 0.01x   



 
 

 (iii) ,yhgr; rhu;G (P)  = tUkhdr; rhu;G – nkhj;jr; nryTr; rhu;G     
     =  200x – 0.005x2 – (75,000 +100x − 0.03x2 + 0.000004x3) 
     =  200x – 0.005x2 – 75,000 – 100x + 0.03x2 – 0.000004x3 
     = 100x + 0.25x2 – 75,000 – 0.000004x3 

  vy;iy ,yhgr; rhu;G     =  
ௗ(௉)
ௗ௫

  = 100 + (0.25x2)x2-1 – 0 – (0.000004x3)x3-1 
       =100 + 0.5x – 0 – 0.000012x2   

                    = 100 + 0.5x – 0.000012x2  
 
03. fk;gdp xd;wpd; nkhj;jf; fpuar; rhu;Gk; tUkhdr; rhu;Gk; fPNo jug;gl;Ls;sd. ,q;F x  

vd;gJ cw;gj;jp nra;J tpw;gid nra;Ak; myFfspd; vz;zpf;if MFk; : 
TR = 8x    ,        TC = 6x + 1,400 

 ,yhg – el;lkw;w Gs;spapy; myFfspd; vz;zpf;ifiaf; fzpf;Ff.  
  tpilfs;: 
 (i) ,yhg – el;lkw;w Gs;spapy;>    
     nkhj;jf; fpuar; rhu;G = tUkhdr; rhu;G 
      6x + 1,400  = 8x 
      8x – 6x = 1400 
      2x = 1400            x = 700 
04. fPNo jug;gl;Ls;s juTfisg; gad;gLj;jp gpd;tUtdtw;iwf; fzpf;Ff. 
 (i) tUkhdr; rhu;G    (ii) nkhj;jf; fpuar; rhu;G 
 (iii) ,yhgr; rhu;G    (iv) vy;iy tUkhdr; rhu;G 
 (v) vy;iyf; fpuar; rhu;G    
 (vi) ,yhg el;lkw;w Gs;spapy; myFfspd; vz;zpf;if 
   
 Nfs;tpr; rhu;G = 3x + 7 
 khWk; fpuar; rhu;G = 3x2 – 3x 
 epiyahd fpuak; = &. 60/- 
  

tpilfs;:  
 (i) tUkhdr; rhu;G  = Nfs;tpr; rhu;G x x 
     = (3x + 7) x x                
     = 3x2 + 7x 
 

 (ii) nkhj;jf; fpuar; rhu;G = khWk; fpuar; rhu;G + epiyahd fpuak; 
     = 3x2 – 3x + 60 
                

 (ii) ,yhgr; rhu;G  = tUkhdr; rhu;G – nkhj;jf; fpuar; rhu;G 
     = 3x2 + 7x – (3x2 – 3x + 60)   
     = 3x2 + 7x – 3x2 + 3x – 60 
     = 10x – 60 
  

 (iv) vy;iy tUkhdr; rhu;G = ௗ(ோ)
ௗ௫

   = 6x + 7 
 

 (v) vy;iyf; fpuar; rhu;G = ௗ(்஼)
ௗ௫

   = 6x – 3 
 

 (vi) ,yhg – el;lkw;w Gs;spapy;   tUkhdr; rhu;G = nkhj;jf; fpuar; rhu;G 
                                  3x2 + 7x  = 3x2 – 3x + 60                
                                                       10x = 60        
                                            x = 6 


